Advertising Case
After careful analysis of the spread sheet and correlation between various variables in terms of determining advertising expenditure allocation, I therefore propose several interpretations about relationship between advertising and profit. Profit equals to revenue minus cost. We need to first analyze the factors which determines the amount of costs ($ 25 per unit+ advertising fee) and revenue. For the revenue part, the prices of the products and units sold will determine the total revenue.     

We need to also realized that the advertising can help to increase the sales volume. What’s more, the seasonal factor (e.g. Q3=0.8,etc.) can influence the sales performance. In terms of cost, cost equals to the cost of goods (which is determined by the unit cost) + sales expenses overhand. By taking these parameters in mind, we can select the best way to invest in advertising to find balance between cost and revenue. 
Nutrition Case
In order to minimize the costs as well as sustain the nutritious components, we as marketers need to be aware of the several constraints in determining the profit line. From the excel we can know that SRFPW respectively can be one of the constraints to monitor and control the production. When we have a closer look at the table we can find several controls to restrain our results. From A7-A11, for instance, C1: Vitamins=10S+20R+10F+30P+20W. We can calculate the C2, C3, C4, C5 respectively. To find the optimal point that meet our criteria, we can do this by using excel. Our goal is to minimize our cost by calculating the z=4S+5R+3F+7P+6W. 
For example when we add 1.32 pounds of flakes, 0.33 pound of raisins, and 0.48 pound of seeds, with no nuts. The optimal mixed will have a lowest cost. As a manager, we need also to understand that when we include more constraints, the results will be totally different. Sample Calculation:
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Furniture Company 
    The Veerman furniture company faces crucial decision in choosing the right combination to maximize its profit for the coming quarter by selecting the right product combination. Specifically speaking, they need to choose what kinds and how many they want to produce. Fabrication hours consumed, the assembly and shipping departments, shipping hours consumed, number of chairs, desks and tables are the parameters of an equation. For our managers, we need to consider these numbers carefully to draw a conclusion. Therefore, we have six constraints used to describe our choice to maximize the z=15 C+24 D+ 18T. After doing the excel calculation, I find that if the company produced zero chairs, 275 desks and 100 tables, they can make the highest profits while maintaining the constraints’ satisfaction.

Sample Calculation: 
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